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1.00 L of a gos af standard femperatune and pressure is compressed 1o
472 ml. Whai is the new presaune of the gas?

in a thesmonuclear device, the pressure of 0,050 liters of gas within the
bomb casing reaches 4 0 x 10% atm. When the bomb casing is destroyed
by the explosion, the gas is released into the almosphere where it
reaches & pressure of 1.00 aim. ‘What s the volume of the gas afler tha
explosion?

Synthetc diasmonds can be manufactured al pressures of 6,00 x 10% atm,
If wer Lok 200 libers of gas at 1.00 atm and compressed il 1o & pressune
of B.00 x 10° atm, whal would the volume of that gas bae?

The highasi pressune over produ in o laboratory setting was abowut 2.0
x 107 abm, M we have a 1.0 x 107 [Her sample of o gas o thad pressure,
eer releaas the pressene un il it is egual 10 0275 abtrm whal would 1he
new wolume of that gas be?
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